Letter Connections - Choose the pair of letters that completes the sentence in the
most sensible way. Use the alphabet to help you.

ABCDEFGHIJKLMNOPQRSTUVWXYZ

VJisto EQ as ECisto (?)

NJisto TK as OS is to (?)

VU
uT
UR

RV

OO 0OO0O0

US

AHistoIMas FCis to (?)

MG
Ol

NH
OH

NI

O O OO0O0

AV is to ZE as SF is to (?)

HU
RM
IT

HV

O O OO0O0

RO

IN isto GR as DV is to (?)

CHisto ZE as LQis to (?)




Answers

AV is to ZE as SF is to (?)

() RO

Vlisto EQ as ECisto (?) NJisto TKas OSisto(?)| | AHisto IM as FCis to (?)
=+ + + 9+
O w O wu O M6
O vy QYT O ol
O ww () UR & NH
Q/VX O RV O OoH
O TZ .O us O NI
Mirror code

IN is to GR as DV is to (?)

—1—&5.

O cv
() zc
() Az
O AA

& ez

CH isto ZE as LQ is to (?)

() HM
() Jo
() IN

aM

(O 10

Mirror code




